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1. A B, C i D -l azdlsw el 2gsd -13.7, -9.4, —11.2, —12.4 kcal gld dl 3012 dHd 4

A wd dzaeflsan saumi wud AR dudl RRsAHL 51

AYA>B>C>D B)A>D>C>B GG Db>C>B>A D D>B>C>A
2. Hfgq + OH o = H,0, AH = -57.1 kJ €lu dl %R H3PO, -t 1 A geug dzzdlse KOH d

sl Y adl Gl ........

(A) = 57.1 kJ (B) > 57.1 kJ (C) <57.1k (D) ~tssl A 53 wsy.
3. Reln i3 HA 24 e $» KOH -l dzzells2a sl -12.2 % 4 A = 58 Relny

2R3 HB w2 d yeu -11.1 % g 8, di DAuuiell g wy O ?

(A) pK,(HA) = pK,(HB) (B) pK,(HA) < pK,(HB) (C) pK,(HA) > pK,(HB) (D) »isust -iél
4. s R S A wd dellsw Al 13.7 l;,cT:le‘m AR ...

A3 BR) Al sy

@A) [e{a [Fofan (B) ot [efa

(C) [Roin Yol (D) uoia YoLul
5. arell (FAT) 4 3dllZs yeu (Calorfic value)....

(A) stellgliesdl sl il 2 Hiéld sl 9y (B) sioilelHie i Ae{l o=l sl 2ileg

(C) M sl 2§ ug, swellelie sl ag (D) steilelie st Ul ol 5l ay,
6. AAumidl 55 AHO (3w draadl) dl 3 w2 wadl Hluy Al 200 el © ?

(A) -94.0 kacl mol! (B) -231.6 kacl mol”!  (C) +21.4 kacl mol™! (D) 64.8 kacl mol™!
7. DA-umidl 59 uRRaHE ulBa siSual A asy © 2

(A) AH (-ve), AS (+ve)  (B) AH (-ve), AS (-ve)  (C) AH (+ve), AS (+ve) (D) »lsugl «idl.
8. woudl @i ad sl 8] 8. 3uR dd 40 J F2dl Gwu A 2ud AR 2 uBuHL 2idlRs Glotui adl 38R

ogeual.

(A) 32 ] (B) —48] G -32] (D) 48 ]
9. Al sy uRen wEw-dl vicuall uR uu sd Al ?

(A) uslasl A flugdl olilas azen (B) dluHi

(C) eolRL ~Aal 58 (D) uBUL ¥l gll vilay dluy daay o,
10.  0.IM HCI -t 10 ml g4 0.1IM KOH -t 10 ml a2t & [@A8 5l diusudi 4°C -l QuuRl i 69,

di 22 0.1M HCI -t 100 ml ¢iaid 0.1M KOH -t 100 ml giagl 08l Bt sl 2d Q1 diui-u

Adl AU ...

(A) 40° C (B) 4° C (C) 20° C (D) -ssl 4 s asi
11 DAumiefl yerll Hs JREy ...

(A) diuHie B) »tidRs G (C) 2urdl (D) wedlal
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

NaOH -+l HClI -l dzadlsa sirell -57.1kJ 23 CH3;COOH -l dzadlser si-ell —55k] <iu
0 SRR 5 ...

(A) 2iRRs R sells iR ©.

B) »RiRs R 1 welHi iad: gl 9.

(C) »iules iR 1 Mol i3 © 2 dAl deellsa w2 2090 uHRHi NaOH %33l 9.
(D) »iRRs iRy wysl 2ua-lsel sl d4lél Gl o3d 9.

%Al + 0, > %Alzo3 ; AG = —827%(02) uEart 212 AlLOg o [Agd [Qeuy s2a we yrdu

emf 24l.
(A) 856V B) 2.14V (C) 428V (D) 6.42 V

s AAal@s wEuni 300K i AH = 150k] 24 AS = 100 JK1 6 di AG 4.

(A) uu (B) 300 kJ (C) 330 kJ (D) 120 kJ
QAnidl 59 uRREMAuUD wWBa sidua duud 2uudo asy 9 ?

(A) AH(+ve), AS(+ve) (B) AH(+ve), AS(-ve) (C) AH(-ve), AS(-ve) (D) 2UUElL oaL of

204 i 2 8 el [@ARre Gzl 454 0.031 4 0.055 %"l Sl 6. A 2wl

. - cal N o e PPN
Geuld vi-ned] 24 g 200K i 8, dl dd 41 250K U 524 s ?

cal cal cal cal
A 11.4 — B) 22.8 — 57 — D) 18.1 —
(A) ; (B) g () P (D) ;

- o

16l g8 a3 oL Aiss CO 2 CO, e 8. CO, 2 CO Al a% A-uedl 21958 -94.3 keal 241

-26.0 kcal Sl dl sl e sA-nealld yeu Hual,
(A) —26.0 kcal (B) -68.3 kcal (C) -94.3 kcal (D) -120.3 kcal

MgO, AL,Og, i1 SiO,l A% 2-aall x1gs4 —602, -1676 21 911 % gl dl Al el 2isus

sul 9 ?
(A) MgO (B) AL,O,4 (© sio, (D) 55l < 53 wsu

wellfl o Hiar Gw 6.01 % 9. well- [Raaq Pigat well-u 1 HWani -l adl §8R...

A) 22 % (B) 109 % (C) 44 % D) 11 %

s uo 2R3 A e AR deadlsw sl deadlsel el 57.0 kJ ard Ad gl 9. dl sul
0.5 ¥4 HNOg 1 dedlsat 0.20 Hid NaOH ud sl 2id R 32dl Gwun Geut i ?
A) 57.0 K (B) 285 KJ (©) 11.40 K (D) 349 kK

Grains B 2un0L AR ¥ AU O AR .........
(A) AH > TAS (B) AH < TAS (C) AH = TAS D) TAS =0

uoin R 10ml sla@d uen Ada- 10ml siag 0 Mgl 52l Al dlssi 5°C Al aiiRl a9, dl
g1} ueiol R 100ml siaRid wowl Ad»-t 100ml siag 8 Mgl sami 20d AR drHHl Adl

(A) 50° C (B) 5° C (C) 20° C (D) 55l < $31 wsy

w[Rsuu a1 NaCll alRa si~uell 180 kcal mol™! 241 giawl i-uedl 1 kcal mol 8. Nat 41 CI- -
ad3aq draedl 3:2 wemi 8. di Adum 2uaqHdl sidda v-aedl il
(A) 71.6 kcal mol™! (B) -71.6 kcal mol! (C) 107.4 kcal mol™! (D) -107.4 kcal mol!
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24,

25.

26.

27.

28.

29.

30.

HCI )l NaOH 18-l dz2efls@ vi-uell x 6. dl %2R 500 ml 2N HCI 28 250 ml 4N NaOH GHRdl
Gaum adl G ..........

(A) 500x (B) 100x <) x (D) 10x

o Gwaling Wsa welli srMBigA 2uudn 4 wa 2 Besarlbigyl sy o dl

(A) AH(-ve), AS(+ve) (B) AH(+ve), AS(+ve) (C) AH(-ve), AS(-ve) (D) AH(+ve), AS(-ve)
welll ousud 2uedl Ay ddls A, 100° C adid, 1 602 ol 1 HWid welld Gstndi d-l 2tidlRs Gladwi
adl 551 bl (weldl ousaai si-edl = 41 kJ mol™! R = 8.3 kJ™! mol™!)

(A) 41 K mol™! (B) 4.100 kJ mol™! (C) 3.7904 KJ mol! (D) 37.904 kJ mol™!

Bry () + Clyg+ 2BrCliy,. 20 s w2 s-aell 2 2i-2idl $2812 2354 30 kJ mol™! 11 105 kJ mol™!
Sl dl sl dHA Wsa dAdadui 89 ?
(A) 285.7 K (B) 273 K (C) 450 K (D) 300 K

S+ 3 0, S04 + 2xkeal , SO, + 3 0, - S04 + y keal SO, -l a7 JA-euell 2.
2
(A) y - 2x (B) 2x + y ©C) x+y (D) 7x
H-H %11 CI-Cl 6l efy @ 21354 430 kJ mol™ i1 240 kJ mol™! €iu »11 HCl w2 AH,l (uq
-90 kJ mol™! di HCI L oia -l 204l
(A) 380 kJ mol™! (B) 425 kJ] mol! (C) 245 kJ mol! (D) 290 kJ mol!

2CgHg(p + 150, — 12C0,4) + 6H,0(;) 298 K diusil 2uda ulsul #I2 2an o v van 58
Guwurl dstad i, (kJ ui)
(A) -7.43 (B) +3.72 (C) -3.72 (D) +7.43
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